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If it is like Rabi Nechoonyoh, ‘his sister’ is difficult

Overview

X995 27 asked that 77127 cannot establish the mawn like 7177 12 X°2171 " (Who maintains
obwm ap17),! for the 7awn maintains that there is 01 by IMNX %y X271, however
according to 71"217 there is no 01 by 1NINK, since 71"'217 maintains that (even) by *2n
mn>o (like W0INR ¥ R277) we say 1"'2%p (just as by 7"°2 NN °2>m). our NMoOIN explains
why there is no question from narn.
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x99 27 could not have said that there will be a difficulty from n9t»» and ‘his

sister’, if 7121 would attempt to establish the mwn according to 7P 72 XM A -
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For perforce 7"217 agrees with »'"9 that n1pon "2»n are %wm 7?17, since 7"210

mentioned that ''27 is like naw, and if 7"2171 would maintain 22w P17 PX -
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So, he should have said, ©'"" is like naw, and certainly 2''577Y is like naw -
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Rather (since 71"217 does not say naw> v"y), he either agrees with 2'9 who

maintains 25w P> -
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Or 1"211 agrees with prx> '3 who maintains there is no npb» by ninm 29, so -

I'See ®11m1 13 °R1 7"7 "wA. See ‘Thinking it over’.
2 Seemingly there is a question regarding nmn (besides the question of YMnAX). One who lives with a nmn receives
mMpon, and the accepted rule is that 27w 712 1°X (this would be not like the >"w in footnote # 1), so why should X271
namnn Yy pay 01p. Why did not 5" mention naman (besides 1Mnx)? mson continues to explain that there is no difficulty
from n1n according to 7",
3 7"211 maintains that just like one who transgresses naw (where there is a 7"°2 npPn 21M) we say »"2%p, and he is
exempt from payment, so too by 5"57v (where there is only a N1 21’1, but no 7"°2 nn, nevertheless) we say »"2%p.
4 Regarding doing a 719877 on v"v, there is only a n1p%» 211 (2 18?), but no N3, If 7211 would maintain 27wn P2 PR
(meaning there is a n"2%p even by [just]) 7R? *2n), he should have said that "y is just like naw, meaning that just
like when someone does a nawa 7o87» (where there is 7"°2 nn 1) he is exempt from any monetary payment, the same
is regarding v"v, even though there is only a % (and no 70 2vrn at all). We would then understand that by 5"
(where there is a % and also n73) that n"2%p would certainly apply. The fact that 71"2171 does not mention v"v, indicates
either that he maintains 22Wn1 7?7 or he agrees with pix> ', as Moo will shortly explain.
5> Therefore 0" is not like naw, for by naw we say »"2%p, but not by v"v, where the rule is 2wm 7%. According to
this option, there is no question why the 71w mentions N, since 7"217 maintains 27w Y2 (like n").
¢ According to this option 7"217 can maintains that n"2%p applies by 0"v/mpn just like by naw (and there will be the
difficulty with namn in our 71wn).
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Therefore (if 7"217 agrees with prx> '), he does not mention that ©''y is like naw,
even though it is true, because we could not derive that n"25p applies to 5'' 2771 from

v"y, since there is no nMpPH» by "7, and there is Mpo» by v"> -
1NN SYWPIN KYY NN 395 RIN PNYY 5399 159 371 XY $)3299 M1 X7 1199

So since according to either option 77"217 disagrees with the 7129, we will not
establish 77"217 like prxs '3, but rather like »''9, so we will gain that there will be
no difficulty from naman.

Summary
1""217 agrees with " that obwm 17712, therefore there is no difficulty with namn.

Thinking it over
"1 (already) explained how we know that 71"217 maintains o>wn) 7217.° Why does
nooIN find it necessary to offer another explanation?'”

7If n"211 would state that »"2%p applies by v"1’, we would assume that it applies only by v"v, since there is a 2rn
mpon, however by 5"51v, where (according to prix ') there is no Np%» (no punishment 27X °71°3), we would mistakenly
assume that there is no »"2%p.
8 mooin offered two options to explain why 1"217 did not say nawa v"v. One is because he agrees with 1" that 1P
a%wm (which would make 17"211 to disagree with the 13137 who maintain 22w 17272 1°X). The second option is that he
agrees with prx> ' that nin»13 >2»n2 MPHn 1R (which would also make him disagree with the 3127, who maintain w°
mn>3 212 NMpYn), but he would maintain (according to this option) o%wm 1% 1°X, which would pose a difficulty
with our 71wn regarding n7mn. Faced with this choice (whether he agrees with #" or with prx> ), we choose that he
agrees with n", for in that case there will be no problem with naman, since 71"21M 1" will agree that a2wm apY>.
% See footnote # 1.
10 Additionally, why does not '0n even mention >"w"35?!
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